CORRIGENDUM-1 TO TENDER NO. CGI 3229P20

THIS CORRIGENDUM IS BEING ISSUED TO AMEND THE PRICE BID FORMAT AGAINST TENDER NO. CGI 3229P20 (Laying replacing of Water supply line for PS-4 Sekoni, including supply of all materials). BIDDERS SHOULD QUOTE THEIR RATE AS PER THE BELOW ATTACHED PRICE BID FORMAT

PART II - SOQ PROFORMA-A

Description of Service: Laying replacing of Water supply line for PS-4 Sekoni, including supply of all materials

SCHEDULE OF QUANTITIES (SOQ), SERVICE/WORK AND RATES

SL. NO	DESCRIPTION OF WORK	QTY (A)	UNIT	OIL'S RATE PER UNIT (B)	OIL'S TOTAL AMOUNT C=(AXB)	SERVICE ACCOUNTING CODE (SAC)	SPECIFY % OF GST ON (C)
1	Providing laying, and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc. 50mm dia NB	3500	M	495.6	1734600		
2	Providing laying, and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc. 80mm dia NB	2000	M	759.66	1519320		
3	Providing and fixing	800	M	212.93	170344		

	G.I. Pipes complete with G.I. fittings and clamps, i/c making good the walls etc. concealed pipe, including painting with anti corrosive bitumastic paint, cutting chases and making good the wall 15 mm dia nominal bore					
4	Constructing masonry Chamber 90x90x100 cm inside, in brick work in cement mortar 1:4 (1 cement : 4 coarse sand) for sluice valve, with C.I. surface box 100 mm top diameter, 160 mm bottom diameter and 180 mm deep (inside) with chained lid and RCC top slab 1:2:4 mix (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size), i/c necessary excavation, foundation nominal size) and inside plastering with	10	NO.	18755.95	187559.50	

	cement mortar 1:3 (1 cement : 3 coarse nominal size) and inside plastering with cement mortar 1:3 (1 cement : 3 coarse per standard design With common burnt clay F.P.S. (non modular) bricks of class designation 7.5					
5	Dismantling G.I. pipes (external work) including excavation and refilling trenches after taking out the pipes, manually / by mechanical means including stacking of pipes within 50 metres lead as per direction of Engineer-in- Charge:15mm to 40mm nominal bore	3500	M	68.18	238630.00	
6	Dismantling G.I. pipes (external work) including excavation and refilling trenches after taking out the pipes, manually / by	2000	M	76.5	153000.00	

mechanical means including stacking of pipes within 50 metres lead as per direction of Engineer-in- Charge:Above 40mm nominal bore Providing and laying S&S C.I. Standard specials such as tees, bends, collars tapers and caps etc, suitable for flanged jointing as per IS: 1538	QTL	1804.02	18040.20		
		OIL'S TOTA	AL AMOUNT	Quoted percentag and figure. (In bet	e of the Bidders in words ween (+/- 10%)
Bidders' to quote +10% to -10% on the total cost. (For quoting below the quoted rates, either (-) sign or the word "below" to be mentioned before the figure in percentage.) No percentage to be quoted against any line item.		₹ 40,21	<u>,493.70</u>		

Please note that :-

The bidders should not quote their rates against individual items. The rates shall be quoted within (+/-) 10% on the total internal estimate, as specified in Schedule of Works (Part-II) subject to the limit of overall percentage from -10% to +10% of the internal estimated contract cost. However, the bids with quoted overall percentage below (-10%) and above (+10%) of the internal estimated cost will be rejected outright. The rates shall be in figures and up to two decimal places only. In case of any identical situation, the L-1 bidder will be decided through draw of lots.

The Rates of Company's Internal Estimate are exclusive of P.F. & GST. The Bidders must quote their rates excluding P.F. & GST.

The Wages Component for the Work is: 22.50 %

The Contractor must quote considering the prevailing minimum labour wage rate for each day of work.

Offers not furnished in the above format as per instruction given shall be summarily rejected.

Special Notes:

- 1. The price/rate(s) quoted by the Bidders will be inclusive of all taxes except **GST** (i.e. IGST or CGST and SGST/UTGST as applicable in case of interstate supply or intra state supply respectively and Cess on GST, if applicable) on the final services. However, GST rate (including cess) to be provided in the respective places in the Price Bid.
- 2. OIL will prefer to deal with registered bidder under GST. Therefore, bidders are requested to get themselves registered under GST, if not registered yet. However, in case any unregistered bidder is submitting their bid, their prices will be loaded with

applicable GST while evaluation of bid. Where OIL is entitled for input credit of GST, the same will be considered for evaluation of bid as per evaluation methodology of tender document."

3.. Price Bid uploaded without giving any of the details of the taxes (Including rates and amounts) will be considered as inclusive of all taxes including GST.

When a bidder mentions taxes as extra without specifying the rates & amount, the offer will be loaded with maximum value towards taxes received against the tender for comparison purposes. If the bidder emerges as lowest bidder after such loading, in the event of order on that bidder, taxes mentioned by OIL on the Purchase Order/ Contracts will be binding on the bidder."

- 5. Refer GST Clauses (Clause no. 31 of GCC).
- 6. Bidders are required to quote for all the items as per Price Bid Format; otherwise the offer of the bidder will be straightway rejected.
- 7. Bidders are also requested to refer the Taxes and Duties clause during GST regime attached vide **Annexure-I** (refer bid document) for compliance
- 8. Amount of GST shall not be included by the Contractor in their quoted price. OIL will reimburse the GST to the CONTRACTOR against submission of invoices issued in accordance with GST Rules,
- 9. Bidder shall furnish this Form duly filled in all respects along with his price part. However, Bidder is required to furnish this Form indicating only the Rate of Duty/ Tax (%) as per Column (d) along with his un-priced part.
- 10. The rate of GST indicated in this format shall be considered for statutory variation as per the provisions of bidding document.
- 11. GST quoted above shall be considered for evaluation as per provisions of Bidding Document.
- 12. Contractor shall indicate total GST amount payable under the contract in this format. However, if Services, to be provided by the Contractor, falls under the category defined under reverse charge rule of GST then the liability of deposition of GST to the tax authority by the Contractor, and by the Owner shall be dealt in accordance with Notifications issued on reverse charge rule of GST by Government of India from time to time.

Notes:

(i) Bidders are requested to quote for all the items mentioned above. Bids will be evaluated considering the entire requirement as above. The Rates/amounts should be quoted by the Bidders inclusive of all applicable taxes and duties, however, GST payable to be shown separately.